.~ USN

§\\% CMRIT

T

Internal Assessment Test 2 —Oct. 2019
Sub: Analysis of Indeterminate Structures Sub Code: 15CVs52 Branch: Civil
Date: 12/10/2019  Duration: 90 min’s Max Marks: 50 Sem / Sec: 5A and 5B O3l
RB
Answer TWO FULL Questions MARKS [ (O 1
A horizontal beam ABCD is carried on hinged supports and is continuous overt three equal
spans each of 3m. All the supports are initially at the same level. The beam is loaded as
shown. Plot BMD for the beam if the support *A” settles by 10mm, ‘B" settles by 30mm
and *C’ settles by 20mm. Analyze by Moment distribution method. Take E=2.0x10°
N/mm® and 1=2.4~10" mm’
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Analyze the Continuous beam show in fig 2. using Kani’s method. Draw BMD and SFD
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